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Choose the correct option from the alternatives.

1. When you say, look before you leap', you are being

strict

® humorous © sarcastic

2. Choose the correct spelling

(®) Efficient Tretment © Batterment

3. It rained ___ almost four hours.

® for while © in

4. It's the first time I ___ sea-food in my life.

@ eat of winning caten © have eaten
5. He has no ___ of winning.
® occasion luck © opportunity

6. We are going ___a study tour next week.
® for in © to

7. 1 did not know how to swim 1 was twelve.

@ until since © after

8. Many of the anxieties we experience as teenagers tend to disappear

@ if we grow up as we grow older © when we look back

9. Folk music songs and music of a community.

® is consisting of comprised of © consists of

10. If I saw a snake, I ____ to death.

—_— S — e —
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®

® cautious

®

® Employd

®

© about

©

® was eaten

®

(® chance

©
® on

®

© while

®© to make us nostalgic

©

® consists
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(A) will scream (8) would scream (©) would have screamed (D) scream

11. What is the meaning of the idiom, 'draw a line' ? @
@ fix a limit hard luck © to infer © little by little
12. The synonym of 'persuade' is _____ .
@ discourage convince © prevent © Intensify
13. The antonym of 'intense' is ____ ©
@ pointed strong © mild © quite
14. He asked me ____ last week. @
(A) where was 1 where | had been © that where 1 was ©® where were you
15. We are all like _____ bright moon, we still have our darker side. @
@) the an © no article ®© a

1, S ol 2 pfe FMamie &@I9 961 7|l A<= F9 22?2 (By which of the following phenomena the particle @
nature of light is examined?)

@) ANST (Polarization ) oo (Diffraction) (© WOBIF (Interference) (@ F=#6w @&l (Compton effect )

2, e B rF &9 BF Eiens coite g @ T3 T929 T9 22 (Which of the following devices is @
used to get a pure DC voltage from pulsating DC?)

@ BR (Battery ) (A4 (Resistor) © ©TIEE (Diode) ®© 41FF (Capacitor)
3. wreisifsfawig @ Jq e @i e Aeqwapierel Mo a2 (Conservation of which of the following ®

quantities indicates the first law of thermodynamics?)
@ #fe (Energy) Sl (Temperature) © ©iE (Charge) © =9 (Mass)

4. @96 Faie g7 At Al 121 kg ST QP60 IEH PG ARSI 2 5 1 A I oo A 2 kg a9 ©
T wrq Priefba e 1 s Ja o e ©9 72 9F W F9? ( An object of mass m kg attached to a
spring oscillates with a period of 2 s. If the mass is increased by 2 kg, the period increases by 1 s. What is

the initial mass m?)

® 4 kg ® 3 kg © 1.6 kg © 2.7 kg
5. (I Bfew 41 2l gl GRS FiEE @ (oEEE SISEe 592id $9 282 (Which one of the

following radioactive isotopes is used to determine how long before a plant or animal died?)

® Cyy Cua © Unss ® Iy

6. @3> Bigrd 7l S 45 k] O (2T 7 4R 15 k] DG 007 ¢ | Bferaflba Twwel 92 (An engine does ®
15 kj of work while rejecting 45 kg to the heat sink. What is the efficiency of the engine?)
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® 67% 25% © 50% ® 45%

7. r IACER 9FH qeeq ATy 99T v wiers Tﬁ'ﬁﬁ a<f6 BTG @ ﬁ'@m STl 9l 21 (An electron
travelling with a speed of v around a circle of radius r is equivalent to a current of)
@ ev/r ev /(2mr) © 2meriv ®© 2mev/r

8. F59 (o (B «FleTam T929 TE@ O @ TTROE qe tofd T4 W2 (Which one of the following gates (@)
can be used repeatedly to make any digital circuit?)

® AND OR © XOR (® NAND
9. @3 4.5 uF @F GEFTT 12.0 V OF FHRAT AR RIS T4 2| GASHre Aers few a2 (A 120V ©

battery is conmected to a 4.5 #F capacitor. How much energy is stored in the capacitor?)

@ 1.24 x107%7 9. 04 x0rtE © 3.24 x10°% ® 4.24 x10°Y

10. & 47 “Af=ef e 20, 998 AT TS (@ 92 (If the work dore is zero, what is the angle between ©
force and displacement?)

® o° 45° © 90° © 180°
11. 76a @M B - M2 (Which of the following is /# - particle?)
® I—Ieg e(_)l © e(l] ®) n(]j

12, iEegiee A @i FifFe UV @esE #tw? (Which one of the following series of hydrogen spectrum falls (&)
in the UV region?)

@ =BT (Lyman) 919 (Balmer) © s (Paschen) © FTEFG (Brackett)
13. - @ @9 7 IHEd 724 AN(The numbers of 0- and 7 - bonds in  are) @
® o9, 2 ® 10, 1 © 8,3 ® 10, 2
14, o4 (FIlG <%l @9 78?2 (Which of the following is not a buffer solution?) ©
® NH Cl+ NH,OH CHLCOONa +~ CH,COOH © NaOH + HCI ©® HCOONa + HCOOH
15. - OF TOUE! AT FGI? (How many isomers of are possible?) ©
® 1 2 © 3 ® 4
16. 5a @R TFEg SoiE® Amd T? (Which of the following is not a secondary standard substance?) ©
® H,50, KMnO, © Nu,CO, ® NaOH
17. Q@ IR *FNYSTEAR AeFAh I GG0T7? (What type of hybridization of carbon atoms is in ) @
® sp? - sp sp - sp? © sp* - sp? ® sp° - sp
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18. frpq @i GTife H-9%w Cofd SF A2 (Which of the following compounds does not form a H-bond?) @
® CH, (&) NH, © HF ® H,O
19, ffenfta o fig @m Tiieat 752 (Which of the following equations is correct for the reaction ?)
®K,-K, Ko=E R © Kp—E RO ® K, =K, R~

20. IS 1 (& Cr & FAIF o ARSAR [ @F AN (The amount of electricity required to deposit 1 @
mole Cr at the cathode is)

®ar i P © 2F ® 3r
21. T -OH ¥MieTad IS [FEEHnt =@ ( The reagent used to identify phenolic -OH is) @
@ Fecl, Na, conc. HCI © acidic KCr,04 ® NaHCO,
22. (FF SERGAD 7 - 59 051 G 2 (Which orbital does not form a 7 - bond?) ©
® p-orbital f-orbital © s-orbital © d-orbital
23. EEfAIF A4S 2@ (The isomer of urea is )
® NIH,NO, NII,CNO © (NH,),CO4 ® NH,CI

24. fsa @ o=l & Hel 719 BRI o TYE? (Which of the following indicators is suitable for the ®
titration of with HCI?)

® TS =a@ (methyl orange) ®) @ (phenolphthalein) © fF=es = (phenyl amine)
© 2T g (thymol blue)

25. @ FFFCEE FHY G TS ? (What is the oxidation state of iron in ?) ©
® 5+ 4+ © 3+ © 2+
26. GAIG , QF Soifgfore TibbIZe @FRISrYd A [Wied (<A Seo 27 (Acetyl chloride reacts with

benzene in presence of anhydrous , to produce)

® Frarae (chlorobenzene) &) SHAGIEFET (acetophenone)© 52 (toluene) ® @ HEF @ff® (benzoic acid)

27. (FRIA 3d- SRR Tofge RUare SEphs %l 92 (How many odd electrons are present in 3d-orbital @

of iron?)
® 4 5 © 6 ® 7
28, 58 A wofod TF @A D2 (Which one of the following molecules has the highest bond angle?) ©
® CH, NH; © HyO © CO,
29, @3¢ WeFATe A4F7FT (The nucleides and , to each other, are)
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® SEFHAEI (isotopes) TIZENG (isotones) © HBFARE (isobars ) © EfFa@ IEETE (nuclear isomers)

30. MBI CAT CFC@A SATCIT ST AT ‘a' G0 W S (For a real gas, the constant 'a' in Van der
Waals equation indicates)

@ «fs #f& (kinetic energy) wRgeeifaF STH (intermolecular attraction) © @EIed (volume)
© ST (compressibility)

31, fosg @ GTsifl tora @fSed e fRfea 03 @55 Beomm w0a? (Which of the following compounds reacts (A

with an organic acid to form an ester?)

@ =EEEE (alcohol) AR (aldehyde) © =0 (amine) © G (ketone)
32. Ca(OH), 9% 9[iafqs @of%Fel (PlaG? (What is the ion product of Ca(OH), ?) @
® [Ca2+][OH- 12 [Ca2+]2 [OH-] © [Ca2+] [OH— ] ® 2 [(::ﬁ*]z [01—1- ]
33. MnO "+ 8H' + 5Fe?™ — Mn?' + + 4H,0+ 5Fe” ffgaifirs Wit wam2(Which one is the ®

oxidizing agent in the reaction MnO,™ + 8H' + 5Fe?” — Mn® - + 4H,0 + 5F 9)
® MnO,~ Ht © Fe?* ® Mn'"

34, " ,
a0 AT TAR F — (@N) + (22\«); : (W)ﬁwaﬁfﬁmmwwwxmﬁwawﬁ%waq@

5 mi T QA FTF ST F© & #AfFN (A particle movem in positive x direction while being acted

upon by a constant force of # = (41’\0; + (ZN)/ - (4;\9’) k The work done on the particle by this force
is)
® 20 ] ® -20] © 40] © -40]

35, @8 A ¢ RICdE 7ib S Ml wet 102 1 A AE w9 T O gloce Gl 2H, SR oF giod figfen (A)
TS F9?7 (Two wires of same material and same radius have the ratio of length 1:2 . If you pull the
wires with same force, what will be the ratio of their strains?)

@ 1:2 a1 © 21 ®) 1:4

36. Radon 222 €9 Radon-220 TSF3 Radon €T N3G | T Radon-222 47 WoFa 136 & 257 At o=
Radon-220 99 WEEAGT FOUET (67 APCE? ( Radon-222 and Radon-220 are the isotopes of Radon. If
Radon-222 has 136 neutrons then what will be the number of protons in the nucleus of Radon-2207?)

®) g4 86 © 134 ® 136

37, (AGad WWW AGIGE AL FHAR BFPHEA (F19F @991 (According to Bohr's ©
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pothesis, the angular momentum of electron in the 1% orbit of hydrogen atom is)
&

® h/2 h/m © h/zm ® h/4m

38. GG 90 P(2,3,5) 99 (G Q(3,4,5) Rre Ziiefds = €7 799 (939 9 TA? (What will be the ©
displacement vector of a particle that moves from point P(2,3,5) to Q(3,4,5)?

® 5i+ 7 + 9% 6i + 12/ + 25k ©ity ®i+j+#k

39. Teess @eft F=ese g 9912 (Which one of the following is the weakest force?) @

@) 2P 97 (Gravitational Force) wfee }5‘3‘@’1 <4 (Electromagnetic Force)

© w4 8 T (weak Nuclear Force) © <= W8S 94 (Strong Nuclear Force)

30. 1 kg 7 Q3 T 5 m T (AF 5 O B0 AFEA T-ADF = T4 308 o7 ofefe s wwar ©
(if an object of mass 1 kg falls freely from a height of 5 m, what will be its kinetic energy when it just
reaches the ground?)

® 9.8] (® 19.6 ] © 49] © 490 ]

41. 10 Q @YRME @F6 TN T G 2 @9 @2 LFRMF (FaDH 4 39 FAE ©F04 2 (What will be the ®
resistance of a 10 Q copper wire if its length is increased by a factor of 2 and its cross-sectional area is
increased by a factor of 4?)

@ 5.0 ® 20 O © 40 Q ® 80 Q

42, G0 TR ST #10T (@& =2 74 #/20F T 20A OF I (If two metal plates are separated by an ©
insulator, then it is called)

@ TEE (Diode) HEA=E (Inductor) © 9% (Capacitor) © J=fEeEa (Transistor)

43. % o fer e cwa W g feq 94 92 (What is the forbidden energy gap for pure silicon ©

at room temperature?)

® 0.3V 0.7 V © 0.7 ev ® 1.1 eV
44, YA T W GG FRErorag Az 491% 19.8 mA 92 A9 29T 0.2 mA 20 492 (994 wis Fo7 @

(What is the current amplification factor for a common base configuration of a transistor if its collector
current is 19.8 mA and base current is 0.2 mA 7 )

® 0.99 9.9 © 49 (D)

45, FweR AT & et b 73 A2 (Which physical quantity remains constant during adiabatic @
process?)

@) ST (Temperature) B9 (Pressure) © =ire (Volume) © 9787 (Entropy)

46. A2AG FAW (10.1), OF AT (CANF A2 (The decimal equivalent of binary number (10.1), is ) ®

® 2.5 59 © 2.1 (D) © @63 77 (Nore)
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47. OFT AT SCEFT T 2 V1 GTS A4 1 A ST 2RIES T 997 €7 FeF e 1 v || FEE woeae (B
d1d (Electromotive force of a cell is 2 V. When 1 A current flows through it, its voltage drops to 1 V. The
internal resistance of the cell is)

L
i

@10 ® 28 ©13Q @)

48. e WL G (94 C Al ¢ Fared dfovisiz TU@ T 1.33 6 2.66 *0A Alfcs et (Velocity of light in ®
free space is c. Refractive indices of water and diamond 1.33 and 2.66 respectively. The velocity of light in

water is)
@ 1.33 ¢ 1.33¢/2.66 © c/1.33 © c/2.66
49. QTG 29 9¥T ____ A9 7T (An object at rest may have ____) ©

@) AHS $9E@e (Linear momentum) I wal (Angular momentum) © =& (Energy) ® %1% (Frequency)

50. OF “AfqFsare fTeg v(1)-9F 5T 3’1@_@[ T 200 V 1 467 A T (A sinusoidal voltage V(t) has an rms ©
value of 200 V. Its maximum value is)

® 141V 200 V © 282V © 400 v
51. (3 FAI A ESrad S8 (FaFT 47 FF (The area under the velocity vs time graph represents) @
® G99 (Acceleration) e sifaqee (Change of velocity) © e (Speed)

(© e WA (Magnitude of displacement)

52. W59 (= =%F ¥ 792 which of the following is not a vector quantity?)
® tapied &=er (Electric intensity) tAiie® «®T (Electric potential) © €&« (Weight) ® ©H (Momentum)

>3 PI » 1_5;| = |2 §| oA A 8B 97 T4 @ T9? (1f |;1 x §| = Pib §| then what is the angle between A and
B?)
® o° 30° © 60° ® B 71 (None)
54. TN GG CUFS (FET =% TS 737 (What will be the frequency of a second pendulum in space?)
® 1 Hz 0 Hz © 2 Hz © S (Infinite)
55. feicbe pIiG wist sifelmiia @945 AW? (Which one of the following is the first law of Thermodynamics?) @
® dQ=du + dw ® Q=du+dw ©da=U+dw ® do = Usw

56. 059 (I SfeS (SIFFR TAErd T8 AAD? (Which one of the following electromagnetic waves has the
highest frequency?)
@) GFF 900 (X-ray) ST A (Gamma ray) © wferaef a0 (Ultraviolet ray) © HRCAES Ff# (Infrared ray)

e s sl ~
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57. 95T (0 (HNIF ST ARTHY 3q? (Which of the following represents the law of conservation of ©)

angular momentum?)

®1=0 ® pP=0 © t=0 © @2 T (None)

58. 27 =i o Pt (i Tre aFeE AE e e A% T S oifge | el 93 e °F 0)
JAGCT 200 kg @R 50kg | AFCFD (@ 20 m/s 2, IR #PBIe @ F972 (A boy jumps horizontally from a
boat floating on stationary water and reaches the shore. The mass of the boat and the boy are 200 kg and

50 kg respectively. If the velocity of the boy is 20 m/s, what is the recoil velocity of the boat?)

® 5.0 m/s 7.5 m/s © 9.0 m/s ® 6.5 m/s
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